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Seven questions muy be answered.

Mathematical Tables may be obtained from the Superintendent.

1. Solve the equation

13—3x :31—{—5:1.:_1
19, RN )

[20 wmarks]

Verify your answer.

3 by 2e—1, and find for what value of &3

9, Divide Sa®—2a"—Tw-
of the divisor.

the quotient is equal to the square

(20 marked -_

3. If x-+2y= -~5, and 3a-+-y=0, find the values of (i) 4z--3y3 i)

Qg ; (iii) Ba-+2ay - 3
|20 ks

wl for a posteard it is on
tters and |
Find the

4, The postage for a letter is twopence, Wl
A lady sent 38 communications, some of them le
The total postage was 4s. 8d.
the number of posteards she sent.

20 marks] S

penny.
remainder postcards.
number of letters and

5. Bxpress by means of algebraic symbols -
(@) The square of the sum of two numbers.

(6) Any number of two figures.

(¢) The total value in shillings of £a, b shillings, and ¢ pencé

(d) What fraction @ ghillings is of £b.
[22 marks]’

(¢) ¢ feet per gecond in miles per hour.
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iSolve the cquations :
(i) 3a*--22p=:14.
(it) (3v—1) (2x-}-3)=5 (Bz—1) (#—2). [22 marks.]

Find the square root of
(2a®—bax—3) (28°—Ta—4) (¢*-—-Ta--12) [22 marks.]

by examples that you know the difference hetween an
and a conditional equation.
values must A and B have in the identity 2(x—3) = A (x--1) -+
) ¢
' [22 marks]|.
d the values of «* when a=-—3, -2, —1,0, 1,2, 3, Use those
to draw a graph of 22, Read from your graph as accurately as
an (i) the values of @ which satisty the equation 2*=3 and (ii) the
of 1-9.
[22 marks.]
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